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60252 - Fa<iTd J<d < 3fchichl oh o1 fAaH &7

A

Y Hicle s=a & foIg archieht & @ Ao €2

farsqa s

3chiehT : 39 TSl (Sfeiar) hl Shgd & STt TasiTd fRAY ht TR T ITch 5= & TTdd & STag foham STTar &1 Siehient
STifgferead (ST3ITdT) & hTel & SR h T GaITd UT| STA-HTAE] - Shal : ot dTd 37chichl i, df T8 Teh Sehel g SiT
ST oh 99T S19g <hl STTct oY | 3T & Uget 3Ral o I8l 39chl Uderd ATI”

“3TA-gTdT 3TeA-shalR” (15/126)1
3Tehiehl & derdT el Heeleetg 3fcife a Teerd @ THITOIT Wl gardl & arfad g, fod fmfafaa g afaa €

1- a1 ASeetTg 31=g 9 aftid 8 for IgiA et : (Sfeferad o sret | gAY ug fRAfT off fos srr g & 4 fhelt &6
gl ohis cTSehl UaT BIdT T, d I8 ek Schal STaig ohid] 3R 34k T 9§ I (=) o AR ol 1dg a1 911 519
3TcITg <hl HUT H STATH 3T 7T, ) §H Yeh Tchsl 108 hid o 3R 34k R ol H&d & 3R ITUR TR (heR)
Aela g1”

3T g1 ol 31 &3 (BT TeT : 2843) 7 Rarad foram § ofk 9 srewrt 3 “Tdig oreft e & 39 TEig R
fear gl

ST © Uk UehRR T i (37) 81

2- oA foe SR AfSiaeeng sieg @ aftfq g o =l Govteeng sreife T T A e © “dgdh & 919 Uah
S3TchiehT 81 31d: IJThT STR F T JgT3f 3R I Tl ehl ¥ Al 1” 38 @R (819 T @ 5154) = Rarad fewar
gl

IS Fed (GoY) hl 3R § &t HS-Th STag heAT 3R Aasiid Sl (H1aT) i 3R F Teh HS-Th] STag hiAT 9
GI1d @, 341 foh Tgt 3R Te AT § 34eh! udl Ioial 8, 99 9 o fAmfafea €

1- 39 ot ° If0id & foh I8 3Teeig & YA AooledlTg 3cife I Joord T 3Hchichl & IR J YT, af 3T A e
“g<d i 3R 4 &I ThiRAT, dUT T hl TR Y Teh Fohel §, ST hig theh ol TS b a8 WS-Tehel % gl a1 ATGIl”
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=3 faffsh (g8 O : 1516) 3 Rarad frar & ofk FeT @ 6 : 98 8819 e97 Ui &1 3T 19 (849 9%
4217) 3 Raraa forar g 3k g it = 34 “gaila-Treitar” (4/391) A T8lg sl gl

2- TR IASIIeelg 31gl ¥ afvid g foh Sieeig oh TG ocledTg 3icile T Tootd A & “Ig oSch I 37 & & THmET
AT 3R TSh! l 3R T Ueh Tehel STag hed T e feam|”

39 fafish (8dia 9w ; 1513) 3 Rarad fohar € otk st & foh ; U8 897 Teig &1 9T SRg et = 39 “Tgig
3ra-farfash” d odie R fean 21

g §EIY 3TehienT A =R 3R ATGT & &g 3iaR &l G 7 WE g
STCATHT SeIA-h A = R 3R H1GT o ST 3T 3R T hIRUT 3 AT H Jooi fhaT &

“T1g RId o1 fAam &1 Fifes sreetTe AfgaTa 3 g iR Afger & g siar forar § ofk Afgen &t farma, =6 o,
TaTgl, STSITET 3R 3rehiehl # G < ST e o 8, S foh fonfsht A g &6 gdta @ Raraa foran 8 sk agig
R fear 8, foh 7l Aoctoeng Sieife T Toord = e @ O qaaH™ = +ft fohelt gaem™ &t sirerrg o, a8
3G feIg ST (STg=14) & Hfth ehT hRUT BRI, I TSTS G TG eAfch o1 Udeh 3T 39 IATSIIG A dTet & Yeh
371 & forg vafe g SR STt ot gaeraT eafch & gieerd Afgetrsii &l q<h e, df & <l IHeh forg (STg=1 &)
3T & < ol RO G, I 2141 T Uk 30T, 38 Teh 3071 & forg wafe ghmi” 5@ fRififsh (g8 g @ 1547)
3 Raraa forar &1 at srehert & adtarar off g2t & T & SR 3T IR A His W gia (8619) 7 gidt, R 39
A Y 7 gl STafch YA g4I a<iadl o a1 & WE §1” IGI0T AT g3

“dtethde-HIgg” (I8 : 53-54).
JUT Sec1-hiAH = Ig 1 gl

" JeATg AfGHTAT = G¥W &l i R agdT &1 8, ST foh IR A 8

{36: ylyac JT FE¥E 5801 ads

“ 3R gy, S &l avg el g1” (YA STA-3HRH : 36), 3R 39 adT 3R 3idx i s1den Ig ¢ foh : sRigd o
Sigeh™ (Tt ik graemi) # eyt St R urufachdar & g1 3R SRiad & 39 aXad o Udish I8 ¢ foh 9ot
TaTet, faRTaa ik {ad (=6 4, TA-8T) # &l AfeAsit o o SgaT 1 1 dt 38T avg Sichieh ot off 361
TR S AT AT e 7T 817 IgRuT GAT gl
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“SiTget "3Me” (2/331)

BhIdar .

gedc1-ch W AgHgeeNs 7 Thgl, ST aRATE &

“37chIehl o oITHl H & I8 & foh : a8 Top Tt el (+e) & St Aastra fA] i ok & ITah 39 gfFar & 34 & ua
AT | U I S B

AT IGh 1l | T Tg Y & o : a8 Tasira A & de ol @it &dr 8, Hifeh ag 319 ATdT-fidr & forg RmiRer
A o foTT 319+ 31ehich ol siereh gl

AT IGh a1l A T Ig ot & o : I8 Te fther (fOR3Kt) @ foradh arget AasTra Y] ot G/ ST 8, 9 foh sieets
3 SHHISH A eTHATH ht He & Taet TSATI” IGUT HHT g3

“ArEthgeT-Higa” (I8 : 69).

3TchiehT & folT GaY SgdR THY S0 & I91dd &1 &1 Fifch et Tootedllg Selie d HootH ol thed g : “§R <l
31U 37ehIehT o Scel RIRAT T@T g31T &, oI Tdd i1 ITeh! STR & Siag foham ST, aT 39T faR HeT SIe ok
JhT AT QT ST 1" 3 3 ATdha (41 =T : 2838) = Rarad foha & 3k @ S = “Haig e 3 |
34 Teig R fear g

gfe 3T TTad 37 @ 38 g Sy, at ITH i3 gt it a1d Tl 8, 3R o1a off FoeHT O A | e g, 38 Teg
foraT 1T GendT B

3R 3reeTTE B oy 31fdres I+ T@ar gl
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